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Put these numbers in order from smallest to largest.

3.01 2.97 3.06 3.041

-11 x -9 = -72 ÷ 8 = -11 - -2 =

Is 849 closer to 800 or 
900?

9 + 5 x 3 - 11 Maria bought six candy 
bars.  It cost $3.06.  How 
much did each candy bar 
cost?

12 x 7 = 
Circle the correctly spelled words.
vocel, vocal
canopy, canopie
nutrient, nutriant

7 lb = oz

https://www.mathworksheets.com


Name:
Week of October 16
MathWorksheets.com

Jacob and Ava are doing their math homework.  Their teacher gave them each 22 pages 

of math facts to practice.  Each page has 7 rows and 9 columns of problems.  Jacob can 

do a row of problems in about 5.4 seconds.  Ava is faster.  She can do a row of problems 

in 4.9 seconds.

How much more time will Jacob need to finish his math homework?

What is the sum of 10 and 
848?

Round 32 to the nearest 
ten.

What number is halfway 
between 43 and 47?

42 ÷ 6 + 5 A book has 5 pages.  Each 
page has 10 dimes.  How 
many dimes in the book?

Which of the following is 
the greatest possible 2-digit 
number with all different 
digits?

Circle the word that best 
completes the sentence.

My friends (went, gone) to the 
movies together last night.

110 ÷ 11 = 
1 cm = 10 mm

10 cm = mm
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Write as a decimal.
Eleven and two hundredths Write as a decimal.

 1
10

Write as a decimal.
Five thousandths

2 2
x 2

Find the product of 56 and 
3. 3 2 5 8,

x 9

7y = 21
N
7

 = 10 N
5

 = 6

What is the greatest 
common factor of 8 and 12?

15 - m = 2 What is the greatest 
common factor of 28 and 
10?

Sketch a right angle named ABC. What kind of angle has 

a measure of between 

0o  and 90o?

Sketch a right angle named EFG.
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Sketch 2 lines GH  and TU  that are 
perpendicular.

Sketch 2 lines JK  and ST  that are 
intersecting.

Write the ratio as a fraction.
6 phones to 11 robots Change to a percent.

18
100

Change to a percent.
0.6

What is the sum of 8.5 and 
8.2? 1 4 . 6

- 6 . 2 9
0 . 5

- 0 . 4

Write the reciprocal.

12
22

Write the reciprocal.

3
9

Write the reciprocal.

2
1

Reduce 2
12

 to its lowest 

terms.

9  +  10
11

 + 7
9

 = Reduce 56
98

 to its lowest 

terms.
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Harry Houdini was born 
in March 1874. He died in 
October 1926. How old 
was he when he died?

Amy went to the farm 
to buy some fresh 
tomatoes. The tomatoes 
cost $1.20 per pound. If 
she bought 5 pounds of 
tomatoes and gave the 
farmer's wife a 
ten-dollar bill, how much 
change did she get?

All 18 of the third grade 
teachers wore their 
pajamas to work. A 
third of the fourth 
grade teachers wore 
their pajamas to work. 
There are 6 more 
fourth grade teachers 
than third grade 
teachers. How many 
fourth grade teachers 
wore their pajamas to 
work?

5 0
- 2 9

How far do you think it is 
from the ground to your 
chin?  Write an estimate of 
the distance you think it 
could be.

Can 240 be evenly divided by 10? Circle:
240 is evenly divisible by 10
240 is NOT evenly divisible by 10

9 7 7
- 7 3 4

Write a letter that has two or 
more lines of symmetry. 4 3

+ 2 0

How many millimeters are in 8 centimeters?

 millimeters

Circle the answer that best completes 
the sentence.
(May/Can) I go to the movies 
with Eli?
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If you multiply 346 x 1014, you will have a number 
that is how much bigger than 173 x 338?

It will be three times as big.
It will be four times as big.
It will be six times as big.
It will be nine times as big.
It will be twice as big.

3 7 0
+ 2 3 5

Circle the addition property 
for 28 + 91 = 91 + 28.

associative property
commutative property

How many digits are in the 
current year? 10 x 5 = 

Write a letter that has a line 
of symmetry.

Rosa was given five numbers:  4,  8,  9,  
7,  and  6.  She needs to use two of 
these numbers to make a fraction.  
Can she make a fraction that is less 
than four-fifths?

(9 + 6) + 7 = 
Write an equation to represent this:

The difference between nineteen and 
three is sixteen.

30 ÷ 3 = 

Circle the conjunctions in the sentence. Explain their function in the sentence.
Jen and Evan and Ethan are triplets. 55 ÷ 11 = 
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The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

D S M R P H N S

T F I S P B

T N D N D L L

R P V R

C R T S I B C L

T R T T

B N B C E D R P

L L H L F X

P M T X

N N S B S B L

BUILT PORCH DREADFUL DETECT
INVITE FEASIBLE ELABORATE
MONOTONOUS PLACE ORPHAN
TERRIBLE

Write this as a number in standard form.  
Use a comma in your number.

seven hundred four thousand,  one 
hundred ninety-three

Can 798 be evenly divided by 4? Circle:
798 is evenly divisible by 4
798 is NOT evenly divisible by 4

Write 490,808 in words.

On the line, write whether the group of 
words is a sentence or a run-on.
Jen went to work, and then she 
went home to eat her dinner and 
do her homework.

April wants to call Anna.  
Anna is on vacation in Asia.  
It is a time difference of 
eleven hours.  Anna's time is 
always later than April's time.  
If it is 10:27 A.M. where April 
lives, then what time is it 
where Anna is?
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5 4 4 9 1 1 2 9 = 5 = x 6 2 4 =
= 3 1 0

Use the pieces above to help you fill in the runaway math puzzle.

Jessica is making up her own calendar.  The first month of her 
weird calendar is called Daffy.  To make matters worse, she is 
giving Daffy a total of sixteen days.  What is the greatest 
number of Saturdays that can occur during Daffy?  Show the 
month of Daffy.

word root se can mean aside or apart secession, seclude, seclusion

12 x 3 = 

2 5 ÷ = 5

÷

3 6 ÷ =

=

8 ÷ = 8

2

1 8 ÷ 9 = ÷

6 7 1

5 x 4 1 x 8 8

x 2 9 1

x 8

= 6

0 x = 0 3

0
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#1Mental Math

Start with the number 486. 486

Add 24.
5 1 9 3 6 5 1 0 4 2 (Circle your answer to double check you are correct.)

Divide by 10.
4 4 6 5 1 0 5 5 2 2

Add the number of dimes in a dollar.
1 1 4 2 6 1 5 8 8 9

Increase that number by 3.
6 4 9 0 1 2 5 6 4 6

Find one-fourth.
8 2 6 2 2 0 1 6 9 1

#2Mental Math

Start with the number 47.
9 6 1 3 6 7 4 4 7 0 (Circle your answer to double check you are correct.)

Add one-fourth of a dozen.
7 5 0 3 9 3 4 4 6 2

Multiply the tens digit by the ones 
digit. The product is your new 
number.

7 6 0 6 8 2 3 7 9 9

Add the number of nickels in a dollar.
3 1 8 0 9 9 5 2 0 8

Increase that number by 43.
2 7 8 0 6 3 7 7 6 5

Round to the nearest ten.
4 6 0 7 2 0 7 2 5 9
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Complete each pattern, using the same rule.  Write what the rule is.

150, , , 105, 90, 75, 60, 45, 30, 15

255, 240, , 210, 195, 180, 165, , , 120

270, 255, 240, , , 195, 180, 165, , 135

Complete each pattern.  Write what the rule is.  Hint: Look at movement of digits!

787963, 637879, 796378, 787963, 637879, 796378, 787963, 

637879, 796378, , , 796378, 787963, 637879

, , 993843, 439938, , , 

439938, 384399, 993843, 439938, 384399, 993843, 439938, 384399
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Round 564 to the nearest ten. Round 363 to the nearest hundred.

167 - 61 gives the _____ of 167 and 61.

word form difference

fluency product

Use mental math.

Round 341 to the nearest ten. Then add 20 
to it. What is the sum?

350 340 360 320

Add using mental math.

33 + 10 =

Which is the best estimate for the 
difference between 9,558 and 3,446?

2,000 7,000 9,000

1,000

43 + 10 = ______ + 2

54 51 53 55

Use paper and pencil to answer.

The sum of 265 and 593 is _______.
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Fill in the blanks by adding the two numbers below each hexagon.

46

14 10

7 7 3 9

52

9

5 4 9 8

96

15

6 7 8 3 2

16

8 8

2 6 2

111

60

4 9 8 5 3

25

13 15

5 8 6 9

word root nym can mean name pseudonym, acronym
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Draw ONE continuous line that touches every box ONCE.
Count by 8s.  Find the box with the number 390.  Move up, down, right, or left.
Keep counting until you reach 774.  Do not move into a spot with a picture.

390 750

398

518 774

694 686

678

638 630

654

Which is the largest?

61.9 ÷ 7.4 61.9 ÷ 7.3 61.9 ÷ 7.5

Can 438 be evenly divided by 3? Circle:
438 is NOT evenly divisible by 3
438 is evenly divisible by 3

Circle the digit in the tenths place.

777.3574

In each pair, circle the word that is 
spelled correctly.
forfth, forth
slave, slaiv
unluky, unlucky
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
29.6

is the sum
4.4 6.5

15.3

3.4

37.6
is the sum

20.5

3.4

7.2

35.5
is the sum

7.2

4.4

3.4

Example:
4.4 + 6.5 + 15.3 + 3.4 = 29.6

Example:
20.5 + 7.2 + 4.4 + 3.4 = 35.5

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 18.1, 15.3, or 20.5.
The other three numbers have to all be DIFFERENT and must be from these: 7.2, 9.4, 
6.5, 5.7, 4.4, or 3.4.

37.66.5 3.4

7.2

20.5

31.6 7.2

15.3

5.7

41.2
less than 18.1

18.1

6.5

odd

odd

4.4

odd

38.6
odd greater than 4.4

either 6.5 or 4.4

39.9
greater than 4.4

greater than 4.4

7.2

43.6
either 5.7 or 20.5 odd

odd

6.5

34.4
odd

3.4

odd

even

34
less than 4.4

either 6.5 or 4.4

5.7

31.6
less than 4.4 greater than 3.4

odd

greater than 3.4 odd

even

odd either 18.1 or 7.2

even

5.7
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 23.3, 14.6, or 20.7.
The other three numbers have to all be DIFFERENT and must be from these: 0.5, 9.8, 
3.7, 5.3, 7.1, 4.8, or 6.2.

36.39.8 5.3

0.5

20.7

33.4
either 5.3 or 14.6

14.6

either 5.3 or 9.8

3.7

29.7
either 5.3 or 14.6

4.8

9.8

either 0.5 or 5.3

38
either 3.7 or 20.7

odd

less than 23.3

33.6
even greater than 6.2

5.3

38.9
greater than 6.2 odd

40.7
odd either 4.8 or 9.8

either 0.5 or 5.3

odd

35.9
either 4.8 or 9.8 even

less than 23.3

greater than 3.7

38.5
greater than 20.7 greater than 0.5

even

41.6
greater than 0.5 greater than 5.3

even

greater than 5.3

odd

26.6
greater than 4.8

greater than 3.7

even

35.9
either 5.3 or 3.7

even

odd

41.9
either 5.3 or 3.7

either 23.3 or 4.8

less than 23.3

32
odd odd

25.9
odd

even

odd

37.1
even

odd

odd

39.6
even either 5.3 or 3.7

less than 23.3

greater than 3.7

either 5.3 or 3.7 less than 23.3

even

either 6.2 or 0.5

less than 23.3 even

odd
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